
Solution to Puzzle #46 – March, 2005  "Something Completely Different" 
 

E E O F F G R U F F S O F A S W E A 
R A W A R E V A L U E K A L E A R M 
O R S R I P E D U L C E C E R I S E 
D R A I N A N D E M O N U S A V E R 
       A G E E        
       X E N D        
       I N S A        
       N L E S        
       S E S E        
       E M C A        
       M E O M        
       I N D I        
       N S E S        
       A I R E        
       E N O R        

 

The letter T must be removed from all the words below before they will fit in the grid. 
 

 

Across 
1. (T)EE OFF 
2. GRUFF 
3. SOFA 
4. SWEAR 
5. AWARE 
6. VALUE 
7. KALE 
8. ARMOR 
9. S(T)RIPE 
10. DULCE(T) 
11. CERISE 
12. DRAIN 
13. (T)ANDEM 
14. (T)ONUS 
15. AVERAGE 
16. EX(T)END 
17. INS(T)AN(T) 
18. LESS 
19. ES(T)EEM 
20. CAMEO 
21. MIND 
22. INSE(T) 
23. SA(T)IRE 
24. (T)ENOR 

Down 
1. ERODE 
2. ARROW 
3. SAFARI 
4. FRINGE 
5. PARVENU 
6. ADDAX 
7. INSEMINA(T)E 
8. FLU(T)E 
9. GEN(T)LEMEN 
10. SINFUL 
11. MENSES 
12. CODE 
13. ROSE 
14. CO(T)ED 
15. ASEA 
16. MIS(T)ER 
17. (T)OKEN 
18. FAC(T)UAL 
19. (T)ESSERA 
20. WAIVER 
21. S(T)EAMER 

 

Kevin Wald solved the puzzle in one hour and 40 minutes. 


